Perfect game. Ave




contents

e Project.1 W HE DAL H SR HE
e Project.1 =73 Bl Project.2H% AR

e Project.2 A2 Ol ERiIdHE

* Project.2 optimum solution AERTHE

A EAHUYES
N
5



, =

Project.1 = FIA

1. M AR Ol RIBHA QLo AlFl E8lol BRIt AL,

2. H A (v,w,x) S MITHE Ot AR HL R HMHE AteTl ol &
3H A4S0l ME UKD S8, AH0IRI 23

T =




Project.2 H5 Q%
1. 947D SRAQIH AL 2 THAFE OO EA RO =TI B/

2. optlmum solution= F‘:broq 4—4’_"'7k == ,J = - —
3.EIR S o7 A EIRQ solution




1. Statement problem
v=6m/s, w=20rad/s= 2T F2
=52 U153k 3HH T Atol o
S01T7HT1I K N AR OS] Q4K
Qb Z2l & U E YortE Rt

2.Imformation collection
m(%l=8)= 5.44kg

r(HtR1S)= 0.1209m

M\ (BFRLHIL)= 0.45

W (B2 H)=mg=53.36 N

| (HAS EBIE)= 2mr2/5=0.02585

3.Design variavles

y:A RERS Ol yEERE T4 21 [m]

©:0l 5H% I yZol ol &&=
[deg]

4,.Criterion to be Opti .
-Slipping H=&l: 12v?

49u, 9
Slipping BH= R S A&
Xl%bcg: 5—Vsin 0
YEERS:

v
Wr——7£039

YR S ol T HE:
2 12v?

y— Lov c03<9+(wr—ﬂc03<9)[(18.355—
49u,g 7 49u,9

sin 0)/(5—7"sin 0]




5.Constraints &cost Func.
Cost Func.: y— 12v

cos@+(wr—%c T

49ng 18§ |
Constraints 15l ' b1 :
g1: y-1.066<0 14fp. 1
1.2} -
2: A-90<0
5 %7 23 &% LOC TR n
SEYE): [E [E [aag | 0.8 T
#e 2 Oy = =l | 06} 7
vswzap | O0.977082| 60.70013 b
FAs2SEL2 'I: -5 .3E-0O53 B (0], | 0.4 q 2
Hzk =AW gl -39
1634 <=0 0.2 1
%E%Eé H 92 -29 22909 S |
B (g3 _5. OE-09f " 0 g0t 0 1 —
_ 5 S 2(H) o 1 1 - 1 1 uy
a4 0.08324 | ! e 5 50 30 100
g5 “1.81002 HES




AUGLAG|

&= =
= RiI=/4

Feasible starting point =>NO
Nonlinear constraints =>YES

Equality constraints =>NO Equality constraints?

Feasible during iteration =>NO

FOM | GRG | SQP
Feasible starting point? | Yes | Yes No No
Nonlinear consfraints? Yes | Yes | Yes | Yes
No Yes | Yes | Yes
Active set strateqy? Yes NG Yes | Yes
Feasible during teration? | Yes No No No
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